Word Problems

1) If Patrick had 83 ice cream cones but dropped 9, how many ice cream cones does he have left?

2) Aurorahad 90 fairies visit her, but 39 had to leave. How many fairies are still with Aurora?

3) If Bugs Bunny had 65 apples but gave 3 to EImer Fudd, how many apples does Bugs Bunny
have left?

4) Scooby Doo has 4 dog biscuits, but he wants to have 25 to share with his friends. How many
more dog biscuits does he need?

5) Jasmine had 98 jewels but lost 4. How many jewels does she have left?

6) Mulan has 10 swords, but she needs 12 for her army. How many more swords does she need
to equip her army?

7) Jasmine had 75 jewels but lost 5. How many jewels does she have left?



8) Patrick had 20 chocolate bars but gave 4 to Spongebob. How many chocolate bars does
Patrick have left?

9) If Pinocchio had 95 strings but broke 22, how many strings does he have left?

10) If Bugs Bunny had 32 carrots but ate 18, how many carrots does he have left?

11) Belle has 70 books but gives 58 away to her friend. How many books does she have now?

12) If Nemo had 16 fish friends but 10 swam away, how many fish friends does Nemo have left?

13) Ariel had 83 seashells but gave 9 to her sister. How many seashells does she have |eft?

14) Rapunzel has 11 hair ribbons, but she wants to have 15 to match all her outfits. How many
more hair ribbons does she need to have 15?

Answers: 74,51, 62, 21, 94, 2, 70, 16, 73, 14, 12, 6, 74, 4
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